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0 X = 50440.8328     Y = 167467.6636 445,83 X = 50427.8358     Y = 167467.9242 449,97 X = 50414.8401     Y = 167468.1848 454,11

1 X = 50499.2451     Y = 167505.2404 427,47 X = 50481.1587     Y = 167505.6031 432,97 X = 50468.1613     Y = 167505.8637 437,11 X = 50455.1639     Y = 167506.1243 441,25 X = 50442.1665     Y = 167506.3849 445,39 X = 50429.1691     Y = 167506.6456 449,53 X = 50416.1718     Y = 167506.9062 453,67 X = 50403.1757     Y = 167507.1668 457,81

2 X = 50500.2959     Y = 167535.7034 420,92 X = 50482.2257     Y = 167536.5490 426,42 X = 50469.2399     Y = 167537.1567 430,56 X = 50456.2541     Y = 167537.7645 434,70 X = 50443.2683     Y = 167538.3722 438,84 X = 50430.2825     Y = 167538.9799 442,98 X = 50417.2957     Y = 167539.5876 447,12 X = 50404.3089     Y = 167540.1954  451,26 X = 50391.3539     Y = 167540.8017 455,40

3 X = 50497.1490     Y = 167565.1936 413,96 X = 50479.0701     Y = 167564.5803 419,46 X = 50466.0781     Y = 167564.1396 423,60 X = 50453.0863     Y = 167563.6988 427,74 X = 50440.0945     Y = 167563.2581 431,88 X = 50427.1028     Y = 167562.8174 436,02 X = 50414.1113     Y = 167562.3767  440,16 X = 50401.1199     Y = 167561.9360 444,30 X = 50388.1287     Y = 167561.4953 448,44 X = 50372.3612     Y = 167575.9783  452,58

4 X = 50491.6768     Y = 167601.9036 410,12 X = 50473.9934     Y = 167598.0613 415,62 X = 50461.2896     Y = 167595.3010 419,76 X = 50448.5858     Y = 167592.5406 423,90 X = 50435.8820     Y = 167589.7803 428,04 X = 50423.1804     Y = 167587.0060 432,18 X = 50410.4727     Y = 167584.2593 436,32 X = 50397.7689     Y = 167581.4990 440,46 X = 50385.0650     Y = 167578.7387 444,60 X = 50367.0183     Y = 167591.0025 448,74

5 X = 50479.0797     Y = 167639.4542 403,36 X = 50462.4752     Y = 167632.2750 408,87 X = 50450.5428     Y = 167627.1158 413,01 X = 50438.6104     Y = 167621.9566 417,15 X = 50426.6779     Y = 167616.7974 421,29 X = 50414.7455     Y = 167611.6382 425,43 X = 50402.8131     Y = 167606.4790  429,57 X = 50390.8807     Y = 167601.3198 433,71 X = 50378.9485     Y = 167596.1608 437,85 X = 50367.0183     Y = 167591.0025  441,99

6 X = 50466.8173     Y = 167665.5662 401,76 X = 50450.6437     Y = 167657.8125 407,27 X = 50438.9212     Y = 167652.1926 411,41 X = 50427.1987     Y = 167646.5728 415,55 X = 50415.4762     Y = 167640.9529 419,69 X = 50403.7537     Y = 167635.3331 423,83 X = 50392.0312     Y = 167629.7132 427,97 X = 50380.3088     Y = 167624.0934 432,11

7 X = 50453.8273     Y = 167692.9878 397,11 X = 50437.4252     Y = 167685.3576 402,60 X = 50425.6382     Y = 167679.8743 406,74 X = 50413.8512     Y = 167674.3910 410,88 X = 50402.0641     Y = 167668.9077  415,02 X = 50390.2771     Y = 167663.4244 419,16

8 X = 50429.8352     Y = 167749.7256 394,36 X = 50413.0404     Y = 167743.0036 399,85 X = 50400.9713     Y = 167738.1730 403,99 X = 50388.9021     Y = 167733.3423 408,13 X = 50376.8360     Y = 167728.5031 412,27 X = 50364.7637     Y = 167723.6811  416,41

9 X = 50412.5319     Y = 167805.8435 387,95 X = 50392.6424     Y = 167799.1273 393,50 X = 50380.3257     Y = 167794.9683 397,64 X = 50368.0090     Y = 167790.8092 401,78 X = 50355.6923     Y = 167786.6502 405,92

10 X = 50403.6034     Y = 167837.1917 387,87 X = 50382.9139     Y = 167833.2090 393,41 X = 50370.1468     Y = 167830.7513 397,55 X = 50357.3799     Y = 167828.2937 401,69 X = 50344.6132     Y = 167825.8361 405,83 X = 50331.8467     Y = 167823.3786 409,97

11 X = 50405.1448     Y = 167877.1948 387,77 X = 50384.3053     Y = 167880.1038 393,32 X = 50371.4298     Y = 167881.9011 397,46 X = 50358.5556     Y = 167883.7023 401,60 X = 50345.6788     Y = 167885.4958 405,74 X = 50332.8032     Y = 167887.2931 409,88 X = 50319.8925     Y = 167889.0954 414,02 X = 50306.9197     Y = 167890.9063 418,16

12 X = 50413.4486     Y = 167902.0236 387,73 X = 50392.6987     Y = 167905.2101 393,22 X = 50379.8494     Y = 167907.1832 397,36 X = 50367.0000     Y = 167909.1564 401,50 X = 50354.1507     Y = 167911.1296 405,64 X = 50341.2858     Y = 167913.1052 409,78 X = 50320.3847     Y = 167919.9817 413,92

X = 50416.5177     Y = 167930.9813 386,72 X = 50395.6397     Y = 167933.1465 392,18 X = 50382.7090     Y = 167934.4875 396,32 X = 50369.7784     Y = 167935.8285 400,46 X = 50356.7956     Y = 167937.1749 404,60 X = 50340.0556     Y = 167941.3483 406,98
X = 50416.9501     Y = 167930.9364

14 X = 50414.8681     Y = 167957.9702 386,49 X = 50392.6677     Y = 167956.8576 309,02 X = 50379.6857     Y = 167956.2070 396,16 X = 50366.7045     Y = 167955.5564 400,30 X = 50352.2693     Y = 167954.8330  404,44

15 X = 50409.5630     Y = 167981.6311 385,52 X = 50388.6240     Y = 167974.7965 391,05 X = 50376.2573     Y = 167970.7926 395,19 X = 50363.9045     Y = 167966.7279 399,33 X = 50348.8009     Y = 167961.7981 403,47

16 X = 50398.9849     Y = 168004.3876 384,88 X = 50380.0737     Y = 167993.0405 390,41 X = 50368.9262     Y = 167986.3517 394,55 X = 50357.7787     Y = 167979.6629 398,69 X = 50343.3910     Y = 167971.0300 402,62

17 X = 50383.7148     Y = 168025.4327 380,90 X = 50367.4407     Y = 168011.2288 386,43 X = 50357.6468     Y = 168002.6808 390,57 X = 50347.8530     Y = 167994.1329 394,71 X = 50339.8961     Y = 167987.5737  396,54

X = 50364.9280     Y = 168041.2049 379,60 X = 50353.1358     Y = 168022.7629 385,12 X = 50346.1319     Y = 168011.8094 389,26 X = 50338.1673     Y = 168001.8139 391,9300
X = 50364.8175     Y = 168041.0322

19 X = 50354.6273     Y = 168051.8847 378,05 X = 50342.9417     Y = 168034.9134 383,36
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